2011/4/23 13:00 pSv/h
4/22
0:00 0.94 0.49 0.78
1.00 0.94 0.49 0.82
2:00 0.93 0.49 0.80
3:00 0.94 0.49 0.81
4:00 0.94 0.49 0.87
5:.00 0.94 0.49 0.94
6:00 0.94 0.49 0.82
7:00 0.93 0.49 0.83
8:00 0.93 0.49 0.95
9:00 0.93 0.48 0.83
10:00 0.93 0.48 0.80
11:00 0.93 0.48 0.75
12:00 0.92 0.49 0.87
13:00 0.93 0.48 0.83
14:00 0.92 0.48 0.85
15:.00 0.93 0.48 0.81
16:00 0.93 0.48 0.87
17:00 0.93 0.48 0.80
18:00 0.93 0.49 0.84
19:00 0.93 0.49 0.85
20:00 0.94 0.48 0.83
21:00 094 0.49 0.81
22:00 0.94 0.49 0.78
23:00 094 0.49 0.83
4/23
0:00 094 0.49 0.86
10:00 0.93 0.48
11:00 0.93 0.49
12:00 0.93 0.48
3 24 1 ,

http://erms.jaea.go.jp/Chart.htm

http://www.jaea.go.jp/04/ztokai/kankyo/realtime/thl 10mStPo01.html
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